TicTacToe

= allowedSymbols : char]
= hoard : char]l[

TicTacToerd

TicTacToeisize :int, symbols : char)

oet(row : int, col ;inf : char Game

getSymboals0 : char = hoard : TicTacToe

printdy ; vaoid — plavers : Player]l

set(row :int, cal ;int, ¢ char) : boolean]|* GamedboardSize : int, playerMames ; Strinal, symbols ; char)
toStringd : String maind : void

Player

= board : TicTacToe
= name : String
= symhbaol : char

Flayeriname : String, symbhbol : char, hoard : TicTacToe)
moved . haalean

Classes in a Tic Tac Toe game




